
Computer Proficiency Certification Test
  

 
Notations :
1.Options shown in green color and with  icon are correct.
2.Options shown in red color and with  icon are incorrect.

 
  
Question Paper Name : ComputerProficiencyCertificationTest 5th March 2022 Shift 1
Subject Name : Computer Proficiency Certification Test
Creation Date : 2022-03-05 17:21:49
Duration : 120
Total Marks : 75
Display Marks: Yes
Share Answer Key With Delivery Engine : Yes
Actual Answer Key : Yes
Calculator : None
Magnifying Glass Required? : No
Ruler Required? : No
Eraser Required? : No
Scratch Pad Required? : No
Rough Sketch/Notepad Required? : No
Protractor Required? : No
Show Watermark on Console? : No
Highlighter : No
Auto Save on Console? Yes
Change Font Color : No
Change Background Color : No
Change Theme : No
Help Button : No
Show Reports : No
Show Progress Bar : No



  
  

CPCT
Group Number : 1
Group Id : 2549893400
Group Maximum Duration : 75
Group Minimum Duration : 75
Show Attended Group? : No
Edit Attended Group? : No
Break time : 1
Mandatory Break time : Yes
Group Marks : 75
Is this Group for Examiner? : No
Show Progress Bar? : No
  
  

COMPUTER PROFICIENCY AND PROFICIENCY IN GENERAL IT SKILLS AND
NETWORKING

Section Id : 2549895492
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 52
Number of Questions to be attempted : 52
Section Marks : 52
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549895533
Question Shuffling Allowed : Yes
  



Question Number : 1 Question Id : 2549896263 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
What are Windows 95, Windows 98, and Windows NT known as?
Options :
1.  Processors
2.  Domain names
3.  Modems
4.  Operating systems
  
Question Number : 1 Question Id : 2549896263 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Windows 95, Windows 98 और Windows NT को िकस �प म� जाना जाता है?
Options :
1.  �ोसेसर के �प म�
2.  डोमेन नाम के �प म�
3.  मॉडेम के �प म�
4.  ऑपरेिटंग िस�म के �प म�
  
Question Number : 2 Question Id : 2549896354 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT an example of network operating systems?
Options :
1.  DOS
2.  Netware
3.  Windows NT server
4.  Solaris
  
Question Number : 2 Question Id : 2549896354 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
िन� म� से कौन नेटवक�  ऑपरेिटंग िस�म का उदाहरण नही ंहै?
Options :
1.  DOS
2.  नेटवेयर
3.  Windows NT सव�र
4.  सोला�रस
  
Question Number : 3 Question Id : 2549896521 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
To print a web page displayed through Internet Explorer, the following shortcut key can be used:
Options :
1.  Ctrl+P
2.  Ctrl+V
3.  Ctrl+C
4.  Ctrl+S
  
Question Number : 3 Question Id : 2549896521 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
इंटरनेट ए��ोरर (Internet Explorer) के मा�म से �दिश�त वेब पृ� मुि�त करने के िलए, िन�िल�खत म� से िकस शॉट�कट कंुजी का उपयोग िकया जा सकता
है?
Options :
1.  Ctrl+P
2.  Ctrl+V
3.  Ctrl+C
4.  Ctrl+S
  
Question Number : 4 Question Id : 2549897072 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0



______ is a part of the computer that you can physically touch.
Options :
1.  Hardware
2.  Software
3.  Virtual Memory
4.  Operating System
  
Question Number : 4 Question Id : 2549897072 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
______ कं�ूटर का एक िह�ा है, िजसे आप भौितक �प से �श� कर सकते ह�।
Options :
1.  हाड�वेयर
2.  सॉ�वेयर
3.  वचु�अल मेमोरी
4.  ऑपरेिटंग िस�म
  
Question Number : 5 Question Id : 2549897407 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In MS Word, the various heading options are available under which of the following?
Options :
1.  Styles
2.  Font
3.  Paragraph
4.  Clipboard
  
Question Number : 5 Question Id : 2549897407 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
MS Word म�, िन� म� से िकस के अंतग�त िविभ� हैिडंग िवक� उपल� होते ह�?



Options :
1.  �ाइ�
2.  फॉ�
3.  पैरा�ाफ
4.  ��पबोड�
  
Question Number : 6 Question Id : 2549897719 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following types of network is contained within a user’s home?
Options :
1.  SAN (Storage Area Network)
2.  HAN (Home Area Network)
3.  WAN (Wide Area Network)
4.  CAN (Controller Area Network)
  
Question Number : 6 Question Id : 2549897719 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
यूजर के घरो ंम� िन� म� से िकस �कार के कं�ूटर नेटवक�  का उपयोग िकया जाता है?
Options :
1.  SAN (�ोरेज ए�रया नेटवक� )
2.  HAN (होम ए�रया नेटवक� )
3.  WAN (वाइड ए�रया नेटवक� )
4.  CAN (कंट� ोलर ए�रया नेटवक� )
  
Question Number : 7 Question Id : 2549897943 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
What is the keybord shorcut to create a duplicate copy of a PowerPoint slide?
Options :



1.  Ctrl+D
2.  Ctrl+V
3.  Ctrl+C
4.  Ctrl+M
  
Question Number : 7 Question Id : 2549897943 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
PowerPoint �ाइड की दूसरी �ित बनाने के िलए िन�िल�खत म� से कौन सा कीबोड� शाट�कट उपयोग िकया जाता है?
Options :
1.  Ctrl+D
2.  Ctrl+V
3.  Ctrl+C
4.  Ctrl+M
  
Question Number : 8 Question Id : 2549898104 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Just like a pie chart, a ______ chart shows the relationship of parts to a whole, but it can contain more than one data series.
Options :
1.  Bar
2.  Doughnut
3.  Line
4.  Area
  
Question Number : 8 Question Id : 2549898104 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
पाई चाट� की तरह, एक ______ चाट� पूण� के भागो ंके संबंध िन�िपत करता है, लेिकन इसम� एक से अिधक डाटा �ंृखलाएं हो सकती ह�।
Options :
1.  बार



2.  डोनट
3.  लाइन
4.  ए�रया
  
Question Number : 9 Question Id : 2549898150 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
______ is an example of an access control system.
Options :
1.  Wi-Fi
2.  Hotspot
3.  Modem
4.  Palm Reader
  
Question Number : 9 Question Id : 2549898150 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
______ ए�ेस कंट� ोल िस�म का एक उदाहरण है।
Options :
1.  वाई-फ़ाई
2.  हॉट �ॉट
3.  मॉडेम
4.  पाम रीडर
  
Question Number : 10 Question Id : 2549898235 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Windows security is built-in to upgraded versions of Windows 10 and includes an antivirus program called ___________. 
Options :
1.  Microsoft Affender Antivirus 
2.  Microsoft Firewall



3.  iptables Firewall 
4.  Microsoft Defender Antivirus
  
Question Number : 10 Question Id : 2549898235 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
िवंडोज सुर�ा िवंडोज 10 के उ�त सं�रणो ंम� अंतिन�िहत (built-in) होती है और इसम� _________ नामक एक एंटीवायरस �ो�ाम शािमल है।
Options :
1.  माइ�ोसॉ� एफ� डर एंटीवायरस
2.  माइ�ोसॉ� फ़ायरवॉल
3.  आईपीटेब� फ़ायरवॉल
4.  माइ�ोसॉ� िडफ� डर एंटीवायरस
  
Question Number : 11 Question Id : 2549898328 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In MS Word, ______ is a pre-defined decorative text that you can add to a document.
Options :
1.  ClipArt
2.  SmartArt
3.  Charts
4.  WordArt
  
Question Number : 11 Question Id : 2549898328 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
MS Word म�, ______ एक पूव�िनधा��रत सजावटी पाठ है िजसे आप एक द�ावेज़ म� जोड़ सकते ह�।
Options :
1.  ��प आट�
2.  �ाट� आट�
3.  चाट�



4.  वड� आट�
  
Question Number : 12 Question Id : 2549898736 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
EIDE stands for “______”.
Options :
1.  Enhanced Integrated Drive Electronics
2.  Extended Integrated Dual Electronics
3.  Enhanced Integrated Dual Electronics
4.  Extended Integrated Drive Electronics
  
Question Number : 12 Question Id : 2549898736 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
EIDE का िव�ा�रत �प "______" है।
Options :
1.  ए�ां�ड इंटी�ेटेड ड� ाइव इले�� ॉिन� (Enhanced Integrated Drive Electronics)
2.  ए�ट�डेड इंटी�ेटेड डुअल इले�� ॉिन� (Extended Integrated Dual Electronics)
3.  ए�ां�ड इंटी�ेटेड डुअल इले�� ॉिन� (Enhanced Integrated Dual Electronics)
4.  ए�ट�डेड इंटी�ेटेड ड� ाइव इले�� ॉिन� (Extended Integrated Drive Electronics)
  
Question Number : 13 Question Id : 2549898950 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
What is a Ripper?
Options :
1.  It corrupts data from the hard disk.
2.  It can destroy all data by formatting hard drive.
3.  It is distributed as an email attachment.
4.  It is a worm.



  
Question Number : 13 Question Id : 2549898950 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
�रपर (Ripper) �ा होता है?
Options :
1.  यह हाड� िड� के डेटा को िवकृत (कर�) कर देता है।
2.  यह हाड� ड� ाइव को फॉरमेट करके सभी डेटा को न� कर सकता है।
3.  इसे ईमेल अटैचम�ट के �प म� िवत�रत िकया जाता है।
4.  यह एक वम� (worm) है।
  
Question Number : 14 Question Id : 2549899443 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
What is the start menu option to view the installed printers?
Options :
1.  Press Windows key and type printers & scanners
2.  Press Windows key + P
3.  Press Windows key + S
4.  Press Windows key + I
  
Question Number : 14 Question Id : 2549899443 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
इं�ाल िकए गए ि�ंटर को देखने के िलए �ाट� मेनू िवक� �ा है?
Options :
1.  िवंडोज की दबाएँ और printers & scanners टाइप कर�
2.  िवंडोज की + P दबाएँ
3.  िवंडोज की + S दबाएँ
4.  िवंडोज की + I दबाएँ
  



Question Number : 15 Question Id : 2549899585 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which standard feature of Windows NT, 2000, XP, Vista and Windows 7 allows a group of printers to share the same name and function as if
they were one printer?
Options :
1.  Printer pool
2.  Printer group
3.  Printer network
4.  Printer server
  
Question Number : 15 Question Id : 2549899585 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Windows NT, 2000, XP, Vista और Windows 7 की कौन सी मानक िवशेषता ि�ंटर के एक समूह को समान नाम और फ़ं�न शेयर करने की अनुमित देती
है जैसे िक वे एक ही ि�ंटर थे?
Options :
1.  ि�ंटर पूल
2.  ि�ंटर �ुप
3.  ि�ंटर नेटवक�
4.  ि�ंटर सव�र
  
Question Number : 16 Question Id : 25498910768 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In a computer network, sharing printers and scanners centrally is also called as:
Options :
1.  data mining
2.  data warehousing
3.  data expandability
4.  resource sharing
  



Question Number : 16 Question Id : 25498910768 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
कं�ूटर नेटवक�  म� ि�ंटरो ंऔर �ैनरो ंको क� �ीय �प से शेयर करने को _____ भी कहा जाता है।
Options :
1.  डेटा माइिनंग
2.  डेटा वेयरहाउिसंग
3.  डेटा ए�प��िडिबिलटी
4.  �रसोस� शेय�रंग
  
Question Number : 17 Question Id : 25498911158 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Long exposure to sound is dangerous for the:
Options :
1.  eyes
2.  brain
3.  ears
4.  legs
  
Question Number : 17 Question Id : 25498911158 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
अिधक समय तक �िन के संपक�  म� रहना िकसके िलए हािनकारक है?
Options :
1.  आँखो ंके िलए
2.  म��त� के िलए
3.  कानो ंके िलए
4.  टांगो ंके िलए
  
Question Number : 18 Question Id : 25498911484 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
______ option is used to check the spelling and grammar of the selected text in MS Word.
Options :
1.  Spelling and Grammar
2.  Set Language
3.  Thesaurus
4.  Translate
  
Question Number : 18 Question Id : 25498911484 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
MS Word म� चयिनत पाठ की वत�नी और �ाकरण (�ेिलंग और �ामर) की जांच करने के िलए ______ िवक� का उपयोग िकया जाता है।
Options :
1.  �ेिलंग एंड �ामर (Spelling and Grammar)
2.  सेट ल��ेज (Set Language)
3.  िथसारस (Thesaurus)
4.  ट�� ांसलेट (Translate)
  
Question Number : 19 Question Id : 25498911735 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT a third-generation programming language?
Options :
1.  COBOL
2.  BASIC
3.  PASCAL
4.  Assembly Language
  
Question Number : 19 Question Id : 25498911735 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0



िन�िल�खत म� से कौन तीसरी पीढ़ी की �ो�ािमंग भाषा नही ंहै?
Options :
1.  कोबोल (COBOL)
2.  बेिसक (BASIC)
3.  पा�ल (PASCAL)
4.  अस�बली ल��ेज (Assembly Language)
  
Question Number : 20 Question Id : 25498913447 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
With reference to images, PNG stands for ____.
Options :
1.  Portable Network Graphics
2.  Portable Natural Graphics
3.  Portable Neutral Graphics
4.  Primary Natural Graphics
  
Question Number : 20 Question Id : 25498913447 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
इमेज के संदभ� म� PNG का पूण��प �ा है?
Options :
1.  Portable Network Graphics (पोट�बल नेटवक�  �ािफ़�)
2.  Portable Natural Graphics (पोट�बल नेचुरल �ािफ़�)
3.  Portable Neutral Graphics (पोट�बल �ूट� ल �ािफ़�)
4.  Primary Natural Graphics (�ाइमरी नेचुरल �ािफ़�)
  
Question Number : 21 Question Id : 25498918460 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
To print the documents, inkjet printer uses an inkjet _________.



Options :
1.  cartridge
2.  container
3.  memory
4.  spooler
  
Question Number : 21 Question Id : 25498918460 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
डा�ूम�ट्स को ि�ंट करने के िलए, इंकजेट ि�ंटर एक इंकजेट ________ का उपयोग करता है।
Options :
1.  कािट� �ज
2.  कंटेनर
3.  मेमोरी
4.  �ूलर
  
Question Number : 22 Question Id : 25498918547 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
With reference to starting a computer, what is the full form of POST?
Options :
1.  Power On System Test
2.  Power On System Task
3.  Power On Self Test
4.  Power On Source Test
  
Question Number : 22 Question Id : 25498918547 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
कं�ूटर को �ाट� करने के संदभ� म�, POST का पूण��प �ा है?
Options :



1.  Power On System Test (पावर ऑन िस�म टे�)
2.  Power On System Task (पावर ऑन िस�म टा�)
3.  Power On Self Test (पावर ऑन से� टे�)
4.  Power On Source Test (पावर ऑन सोस� टे�)
  
Question Number : 23 Question Id : 25498918966 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
If user wants to quickly create bullet points in Word document, which shortcut will create the bullet points?
Options :
1.  CTRL+SHIFT+M
2.  CTRL+SHIFT+B
3.  CTRL+SHIFT+L
4.  CTRL+SHIFT+P
  
Question Number : 23 Question Id : 25498918966 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
यिद �योगकता� वड� द� तावेज़ म� ती�ता से बुलेट िबंदु बनाना चाहता है, तो कौन सा शॉट�कट बुलेट िबंदु बनाएगा?
Options :
1.  CTRL+SHIFT+M
2.  CTRL+SHIFT+B
3.  CTRL+SHIFT+L
4.  CTRL+SHIFT+P
  
Question Number : 24 Question Id : 25498919243 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following categories of documents CANNOT be created using the Mail merge feature of MS Word 2016?
Options :
1.  Labels



2.  Letters
3.  Envelopes
4.  Executable files
  
Question Number : 24 Question Id : 25498919243 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
MS Word 2016 की मेल मज� िवशेषता का उपयोग करके िन�िल�खत म� से िकस �ेणी के द�ावेज़ नही ंबनाए जा सकते?
Options :
1.  लेब� (Labels)
2.  लेटस� (Letters)
3.  एनवल� (Envelopes)
4.  ए�ी�ूटेबल फाइ� (Executable files)
  
Question Number : 25 Question Id : 25498919317 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
What is the full form of CUI in a computer?
Options :
1.  Command Unique Interface
2.  Command User Interest
3.  Character User Interface
4.  Character User Increase
  
Question Number : 25 Question Id : 25498919317 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
कं�ूटर के संदभ� म�, CUI का पूण� �प �ा है?
Options :
1.  Command Unique Interface (कमांड यूिनक इंटरफ़ेस)
2.  Command User Interest (कमांड यूजर इंटरे�)



3.  Character User Interface (करै�र यूजर इंटरफ़ेस)
4.  Character User Increase (करै�र यूजर इन�ीस )
  
Question Number : 26 Question Id : 25498919318 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following GUI elements is a small picture that represents objects such as a file, program, web page, or command?
Options :
1.  Icon
2.  Widgets
3.  Window
4.  Menu
  
Question Number : 26 Question Id : 25498919318 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
िन�िल�खत म� से कौन से GUI त�, फाइल, �ो�ाम, वेबपेज अथवा कमांड को �� करने वाले छोटे-छोटे िच� होते ह�?
Options :
1.  आइकॉन
2.  िवगेट
3.  िवंडो
4.  मेनू
  
Question Number : 27 Question Id : 25498922671 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
With the help of the following signs, try to identify the problem source in the computer.
a. A loud, constantly running, overworked computer fan.
b. A high CPU temperature
c. System instability
Options :
1.  Power failure issues



2.  Motherboard problems
3.  Heat sink problems
4.  Hard disk problems
  
Question Number : 27 Question Id : 25498922671 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
िन�िल�खत संकेतो ंकी मदद से कं�ूटर म� सम�ा के �ोत का पता लगाने का �यास कर�?
a. शोर के साथ लगातार चल रहा ओवरव�ड� कं�ूटर का पंखा
b. CPU का उ� तापमान
c. िस�म अ��थरता
 
Options :
1.  पॉवर िवफलता की सम�ाएं
2.  मदरबोड� की सम�ाएं
3.  हीट-िसंक की सम�ाएं
4.  हाड� िड� की सम�ाएं
  
Question Number : 28 Question Id : 25498924042 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
_____ is one of Microsoft’s tools that helps the users to customise Windows 95.
Options :
1.  IP Diagnostic
2.  URLScan
3.  Tweak UI
4.  PCmover Express
  
Question Number : 28 Question Id : 25498924042 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
_______, माइ�ोसॉ� का एक टूल है जो उपयोगकता�ओ ंको िवंडोज 95 को क�माइज़ करने म� मदद करता है।



Options :
1.  आईपी डाय�ो��क (IP Diagnostic)
2.  यूआरएल�ैन (URLScan)
3.  �ीक यूआई (Tweak UI)
4.  पीसीमूवर ए��ेस (PCmover Express)
  
Question Number : 29 Question Id : 25498924431 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
With respect to Web Development, CSS stands for:
Options :
1.  Cascading Screen Shot
2.  Cascading Style Sheet
3.  Color Select Simple
4.  Capture Screen Shot
  
Question Number : 29 Question Id : 25498924431 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
वेब िवकास के संबंध म�, CSS का अथ� है:
Options :
1.  कै�ेिडंग �ीन शॉट (Cascading Screen Shot)
2.  कै�ेिडंग �ाइल शीट (Cascading Style Sheet)
3.  कलर सेले� िसंपल (Color Select Simple)
4.  कै�चर �ीन शॉट (Capture Screen Shot)
  
Question Number : 30 Question Id : 25498925315 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
What is the keyboard shortcut to open an existing file in MS Word?
Options :



1.  Alt+O
2.  Ctrl+O
3.  Ctrl+P
4.  Alt+N
  
Question Number : 30 Question Id : 25498925315 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
MS Word म�, मौजूदा फ़ाइल खोलने के िलए कीबोड� शॉट�कट �ा है?
Options :
1.  Alt+O
2.  Ctrl+O
3.  Ctrl+P
4.  Alt+N
  
Question Number : 31 Question Id : 25498925334 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
What is the keyboard shortcut to insert a new slide in a PowerPoint presentation?
Options :
1.  Ctrl+M
2.  Ctrl+D
3.  Alt+I
4.  Ctrl+I
  
Question Number : 31 Question Id : 25498925334 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
PowerPoint �ेज��टेशन म� नई �ाइड स��िलत करने के िलए कीबोड� शॉट�कट िन�िल�खत म� से कौन सा है?
Options :
1.  Ctrl+M
2.  Ctrl+D



3.  Alt+I
4.  Ctrl+I
  
Question Number : 32 Question Id : 25498933923 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Other name of tactile sensor is ______ sensor.
Options :
1.  pressure
2.  humidity
3.  touch
4.  temperature
  
Question Number : 32 Question Id : 25498933923 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
टै�ाइल स�सर का दूसरा नाम ______ स�सर है।
Options :
1.  �ेशर
2.  ह् यूिमिडटी
3.  टच
4.  टे� परेचर
  
Question Number : 33 Question Id : 25498934081 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
AdLib sound cards had:
Options :
1.  9 voice and 1 mono channel
2.  7 voice and 2 mono channels
3.  6 voice and 3 mono channels



4.  8 voice and 2 mono channels
  
Question Number : 33 Question Id : 25498934081 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
एडिलब (AdLib) साउंड काड्�स म� �ा होता था?
Options :
1.  9 वॉइस और 1 मोनो चैनल
2.  7 वॉइस और 2 मोनो चैनल
3.  6 वॉइस और 3 मोनो चैनल
4.  8 वॉइस और 2 मोनो चैनल
  
Question Number : 34 Question Id : 25498934483 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In video streaming, content is sent in ______ form over the Internet and displayed by the viewer in real time.
Options :
1.  uncompressed
2.  compressed
3.  encrypted
4.  textual
  
Question Number : 34 Question Id : 25498934483 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
वीिडयो �� ीिमंग म�, इंटरनेट पर ______ ��प म� साम�ी भेजी जाती है और दश�क �ारा वा�िवक समय म� �दिश�त की जाती है।
Options :
1.  असंपीिडत (uncompressed)
2.  संपीिडत (compressed)
3.  ए����ेड (encrypted)
4.  टे�चुअल (textual)



  
Question Number : 35 Question Id : 25498944363 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
______ is an example of behavioural biometric.
Options :
1.  Signature dynamics
2.  Fingerprint
3.  Iris Recognition
4.  Face
  
Question Number : 35 Question Id : 25498944363 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
_______ िबहेिवयरल बायोमेिट� क का एक उदाहरण है।
Options :
1.  िस�ेचर डायनेिम�
2.  अंगुली की छाप
3.  आई�रस पहचान
4.  चेहरा
  
Question Number : 36 Question Id : 25498944364 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
What is the result of the following MS-Excel 2019 formula?
=FLOOR(250, 25)
Options :
1.  249
2.  240
3.  250
4.  275
  



Question Number : 36 Question Id : 25498944364 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
िन�िल�खत MS-Excel 2019 सू� का प�रणाम �ा है?
=FLOOR(250, 25)
Options :
1.  249
2.  240
3.  250
4.  275
  
Question Number : 37 Question Id : 25498944365 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which among the following is one of the boot loader for Linux Operating System?
Options :
1.  LILO
2.  KERNEL
3.  BIOS
4.  POST
  
Question Number : 37 Question Id : 25498944365 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
िन�िल�खत म� से कौन-सा, िलन� ऑपरेिटंग िस�म के िलए बूट लोडर म� से एक है?
Options :
1.  LILO
2.  KERNEL
3.  BIOS
4.  POST
  
Question Number : 38 Question Id : 25498944366 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
1 Petabytes is equal to ______.
Options :
1.  1024 bytes
2.  1024 kilobytes
3.  1024 terabytes
4.  1024 megabytes
  
Question Number : 38 Question Id : 25498944366 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
1 पेटाबाइट ______ के बराबर होता है।
Options :
1.  1024 बाइट्स
2.  1024 िकलोबाइट्स
3.  1024 टेराबाइट्स
4.  1024 मेगाबाइट्स
  
Question Number : 39 Question Id : 25498944368 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following shortcuts is used to open the file menu in MS Word?
Options :
1.  Ctrl + C
2.  Ctrl + V
3.  Alt + F
4.  Ctrl + X
  
Question Number : 39 Question Id : 25498944368 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0



MS Word म� फ़ाइल मेनू खोलने के िलए िन� म� से िकस शॉट�कट का उपयोग िकया जाता है?
Options :
1.  Ctrl + C
2.  Ctrl + V
3.  Alt + F
4.  Ctrl + X
  
Question Number : 40 Question Id : 25498944369 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In Gmail, _____ tab is used for messages from discussion boards and mailing lists.
Options :
1.  Primary
2.  Promotions
3.  Updates
4.  Forums
  
Question Number : 40 Question Id : 25498944369 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
जीमेल म�, _____ टैब का उपयोग चचा� बोड� और मेिलंग सूिचयो ंसे संदेशो ंके िलए िकया जाता है।
Options :
1.  �ाईमरी (Primary)
2.  �ोमोश� (Promotions)
3.  अपडेट्स (Updates)
4.  फोर� (Forums)
  
Question Number : 41 Question Id : 25498944370 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
How many cells are present in the cell range A1:B3 of an MS-Excel worksheet?



Options :
1.  9
2.  7
3.  6
4.  13
  
Question Number : 41 Question Id : 25498944370 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
MS-Excel वक� शीट के सेल र�ज A1:B3 म� िकतने सेल मौजूद होते ह�?
Options :
1.  9
2.  7
3.  6
4.  13
  
Question Number : 42 Question Id : 25498944371 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following command is available in View tab in MS-Word 2019?
Options :
1.  Print Layout
2.  Orientation
3.  Size
4.  Track changes
  
Question Number : 42 Question Id : 25498944371 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
MS-Word 2019 म� View टैब म� िन� म� से कौन-सा कमांड उपल� है?
Options :
1.  ि�ंट लेआउट (Print Layout)



2.  ओ�रएंटेशन (Orientation)
3.  साइज़ (Size)
4.  ट� ैक च�जीस (Track changes)
  
Question Number : 43 Question Id : 25498944372 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following characters is used to indicate the beginning of any formula in MS Excel 2016?
Options :
1.  =
2.  $
3.  &
4.  *
  
Question Number : 43 Question Id : 25498944372 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
MS Excel 2016 म� िकसी भी सू� की शु�आत को इंिगत करने के िलए िन�िल�खत म� से िकस वण� का उपयोग िकया जाता है?
Options :
1.  =
2.  $
3.  &
4.  *
  
Question Number : 44 Question Id : 25498944373 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
A ______ is the visual representation of a PivotTable in Excel.
Options :
1.  Table
2.  3D Models



3.  Smart Art
4.  Pivot Chart
  
Question Number : 44 Question Id : 25498944373 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
एक ______, Excel म� एक िपवट टेबल का �� िन�पण है।
Options :
1.  टेबल
2.  3D मॉडल
3.  �ाट� आट�
4.  िपवट चाट�
  
Question Number : 45 Question Id : 25498944374 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is the shortcut key to bold the selected text?
Options :
1.  Ctrl+B
2.  Ctrl+I
3.  Ctrl+D
4.  Ctrl+C
  
Question Number : 45 Question Id : 25498944374 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
चयिनत टे� को बो� करने के िलए िन� म� से कौन-सी शॉट�कट कंुजी है?
Options :
1.  Ctrl+B
2.  Ctrl+I
3.  Ctrl+D



4.  Ctrl+C
  
Question Number : 46 Question Id : 25498944375 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
CPU itself has three components, Memory or Storage Unit, ______, and Arithmetic Logic Unit.
Options :
1.  Computer Unit
2.  Common Unit
3.  Campus Unit
4.  Control Unit
  
Question Number : 46 Question Id : 25498944375 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
सीपीयू म� तीन घटक होते ह�, मेमोरी या �ोरेज यूिनट, ______, और अ�रथमेिटक लॉिजक यूिनट।
Options :
1.  कं�ूटर यूिनट
2.  कॉमन यूिनट
3.  क� पस यूिनट
4.  कंट� ोल यूिनट
  
Question Number : 47 Question Id : 25498944376 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Who can use BHIM?
Options :
1.  Anyone with a bank account and credit card.
2.  Any adult person of India even he/she has no bank account.
3.  Anyone with an Indian bank account, registered mobile number and debit card.
4.  Anyone with a smartphone.



  
Question Number : 47 Question Id : 25498944376 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
भीम (BHIM) का उपयोग िन�िल�खत म� से कौन कर सकता है?
Options :
1.  ब�क खाते और �ेिडट काड� वाला कोई भी ���।
2.  भारत का कोई भी वय� ��� चाहे उसका कोई ब�क खाता न हो।
3.  भारतीय ब�क खाता, पंजीकृत मोबाइल नंबर और डेिबट काड� वाला कोई भी ���।
4.  �ाट�फोन वाला कोई भी ���।
  
Question Number : 48 Question Id : 25498944377 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
We can find Track Changes command in ______ tab in Ms Word Ribbon
Options :
1.  View
2.  Review
3.  Design
4.  Insert
  
Question Number : 48 Question Id : 25498944377 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
हम Ms Word �रबन म� _______टैब म� ट� ैक च�ज कमांड पा सकते ह�।
Options :
1.  �ू (View)
2.  �र�ू (Review)
3.  िडज़ाइन (Design)
4.  इ�ट� (Insert)
  



Question Number : 49 Question Id : 25498944378 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In MS Word, table with four rows and five columns has ______ cells.
Options :
1.  4
2.  5
3.  9
4.  20
  
Question Number : 49 Question Id : 25498944378 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
चार पं��यो ंऔर पाँच �ंभो ंवाली एक MS Word तािलका म� ______ को�क (से�) होते ह�।
Options :
1.  4
2.  5
3.  9
4.  20
  
Question Number : 50 Question Id : 25498944379 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In MS Word, Ctrl+L is used to:
Options :
1.  align text to both left and right margin
2.  align text to center
3.  align text to the left margin
4.  align text to the right margin
  
Question Number : 50 Question Id : 25498944379 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
MS Word म� Ctrl+L का उपयोग िन�िल�खत म� से िकसिलए िकया जाता है?
Options :
1.  पाठ को बाएं और दाएं दोनो ंहािशए (मािज�न) के बीच म� संरे�खत करने के िलए
2.  पाठ को क� � म� संरे�खत करने के िलए
3.  पाठ को बाएँ हािशये (मािज�न) पर संरे�खत करने के िलए
4.  पाठ को दािहने हािशए (मािज�न) पर संरे�खत करने के िलए
  
Question Number : 51 Question Id : 25498944380 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
 The use of parity bit is for:
Options :
1.  Indexing
2.  Coding
3.  Error detection
4.  Scanning
  
Question Number : 51 Question Id : 25498944380 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
पै�रटी िबट का उपयोग ______ के िलए है।
Options :
1.  इंडे��ंग
2.  कोिडंग
3.  �ुिट का पता लगाने
4.  �ैिनंग
  
Question Number : 52 Question Id : 25498944381 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0



USB pen drive is a ______ device.
Options :
1.  removable
2.  fixed
3.  non-portable
4.  volatile
  
Question Number : 52 Question Id : 25498944381 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
यूएसबी (USB) पेन ड� ाइव एक ______ िडवाइस है।
Options :
1.  �रमूवेबल
2.  िफ�
3.  नॉन-पोट�बल
4.  वोलेटाइल
  
  

READING COMPREHENSION
Section Id : 2549895493
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 1
Number of Questions to be attempted : 1
Section Marks : 5
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549895534
Question Shuffling Allowed : Yes



  
Question Id : 25498921019 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (53 to 57)
Read the given passage and answer the questions that follow.
Plants

Plants give us lots of things including oxygen, food, and medicines. Plants need things like water, light, and air. The amount of daylight they get
affects their growth. Plants also need food, just like we do. The different parts of a plant help it make food.

Plants have three basic parts. They are the roots, stems, and leaves. The roots anchor the plants and absorb water and minerals. The stems hold
the plant up. Plants make their own food with the help of the leaves.

Some plants cross-pollinate. These plants have male (the stamen), or female (the carpel) parts. Wind and water sometimes scatter the pollen, but
insects do most of the work. Other plants pollinate themselves. A new plant is born from a seed. The seeds contain food for the plants' first stage
in life. As the plants begin to sprout roots and grow stems, they produce their own food using chlorophyll. Seeds scatter in many ways. Some
plant seeds have hooks, which stick to the fur of insects, which is then brushed off in a different place. Flying seeds, floating seeds, or fruits are
carried far by wind or water. Some plants have exploding seed pods that fling seeds into the air.

Plants come in many varieties. Some plants are as large as Giant Sequoias, while others are as small as Rootless Duckweed. Plants can live from
months to centuries. Some plants are climbers. They reach out for objects to climb on. They like to climb on poles, fences, statues, and other
plants (mainly trees). Some plants eat insects. These plants have moving parts, sticky substances, or pools of fluid to help them catch food. When
these plants live on trees, they do not harm the trees. Some plants that live on other plants do harm the plants they are living on. These plants are
called parasitic plants.
Sub questions
 
Question Number : 53 Question Id : 25498921020 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
We depend on plants for many things. Which of the following is NOT true for this statement?
Options :
1.  Medicines
2.  Oxygen
3.  Daylight
4.  Food
 
Question Number : 54 Question Id : 25498921021 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which part of the plant is important for making food?
Options :
1.  Leaves
2.  Roots
3.  Stem
4.  Seed
 
Question Number : 55 Question Id : 25498921022 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
What is the role of seeds in plants?
Options :
1.  Seeds fly to other places
2.  Seeds float to faraway places
3.  Seeds scatter in many ways
4.  Seeds contain food for the first stage of a plant's life
 
Question Number : 56 Question Id : 25498921023 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Seeds spread all over the place with the help of ______.
Options :
1.  water and wind
2.  plants that climb
3.  moving parts of plants
4.  plants that eat insects
 
Question Number : 57 Question Id : 25498921024 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Plants that live on other plants are known as ______.



Options :
1.  climbing plants
2.  moving plants
3.  parasitic plants
4.  living plants
  
Question Id : 25498921019 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (53 to 57)
िन� ग�ांश को पिढ़ए और उसके आधार पर िदए गए ��ो ंके उ�र दीिजये:

पौधे

पौधे हम� ऑ�ीजन, भोजन और दवाओ ंसिहत कई चीज� देते ह�। पौधो ंको पानी, �काश और हवा जैसी चीज़ो ंकी आव�कता होती है। पौधो ंको िमलने वाली
सूय� की रोशनी की मा�ा उनके िवकास को �भािवत करती है। हमारी तरह पौधो ंको भी भोजन की आव�कता होती है। पौधे के िविभ� भाग भोजन बनाने म�
सहायता करते ह�।

पौधे के तीन मूल भाग जड़, तना, और पि�यां ह�। जड़� पौधो ंको जमीन से बांधकर रखने के साथ-साथ जमीन से पानी और खिनजो ंको अवशोिषत करती ह�। तना
पौधे को ऊपर की ओर सीधा रखता है। पि�यो ंको पौधो ंका भोजन बनाने के अलावा और भी ब�त कुछ करना पड़ता है।

कुछ पौधे पर-परागण करते ह�। इन पौधो ंम� नर (पंुकेसर), या मादा (अंडप) भाग होते ह�। अ�र हवा और पानी पराग को िबखेरते ह�, लेिकन ऐसे पौधो ंम� परागण
का शेष काय� कीटो ं�ारा होता है। अ� पौधे खुद ही परागण करते ह�। एक नया पौधा बीज से पैदा होता है। बीज म� पौधो ंके जीवन के पहले चरण के िलए भोजन
मौजूद होता है। जैसे-जैसे पौधे जड़� जमाते ह� और तने को िवकिसत करते ह�, वे �ोरोिफल का उपयोग करके अपना खुद का भोजन तैयार करने लगते ह�। बीज
कई तरीको ंसे िबखरता है। कुछ पौधे के बीजो ंम� �क होते ह�, जो कीटो ंके फ़र से िचपक जाते ह�, जो िफर अ� िविभ� जगहो ंपर झड़ जाते ह�। बीज हवा म�
उड़कर, पानी म� तैरकर या फलो ंके �ारा दूर-दूर ले जाया जाता है। कुछ पौधो ंम� बीजो ंसे भरी फली म� िव�ोट होता है िजस कारण बीज हवा म� फ़ैल जाते ह�।

पौधे कई िक�ो ंके होते ह�। कुछ पौधे िवशालकाय से�ॉइज़ िजतने बड़े होते ह�, जबिक कुछ अ� पौधे जड़-िवहीन डकवीड के जैसे छोटे होते ह�। पौधे कुछ
महीनो ंसे लेकर सिदयो ंतक जीिवत रह सकते ह�। कुछ पौधे लता के �प म� होते ह�। वे चढ़ने के िलए दूसरी व�ुओ ंपर िनभ�र करते ह�। वे खंभो,ं बाड़, मूित�यो,ं
और अ� दूसरे पौधो ं(मु� �प से पेड़ो)ं पर चढ़ते ह�। कुछ पौधे कीट-भ�ी होते ह�। इन पौधो ंम� कीड़ो ंको पकड़ने म� सहायता करने के िलए कुछ गितशील
िह�े, िचपिचपा पदाथ�, या �व से भरी थैली होती ह�। जब ये पौधे पेड़ो ंपर रहते ह�, तो वे पेड़ो ंको नुकसान नही ंप�ंचाते ह�। कुछ पौधे जो अ� पौधो ंपर रहते ह� वे
उन पौधो ंको नुकसान प�ंचाते ह� िजन पर वे रहते ह�। इन पौधो ंको परजीवी पौधे कहा जाता है।
Sub questions
 
Question Number : 53 Question Id : 25498921020 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
'हम कई चीजो ंके िलए पौधो ंपर िनभ�र करते ह�।' इस कथन के िलए िन�िल�खत म� से कौन सा िवक� स� नही ंहै?
Options :
1.  औषिधयों
2.  ऑ�ीजन
3.  धूप
4.  भोजन
 
Question Number : 54 Question Id : 25498921021 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
पौधे का कौन सा भाग भोजन के िनमा�ण म� सहायक होता है?
Options :
1.  प�े
2.  जड़
3.  तना
4.  बीज
 
Question Number : 55 Question Id : 25498921022 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
पौधो ंके िलए बीज की भूिमका �ा है?
Options :
1.  बीज उड़कर अ� �थानो ंतक जा सकते ह�
2.  बीज दूर दूर तक तैरकर जा सकते ह�
3.  बीज कई तरीको ंसे िबखरते ह�
4.  बीज म� पौधो ंके जीवन के पहले चरण के िलए भोजन मौजूद होता है
 
Question Number : 56 Question Id : 25498921023 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
बीज ______ की सहायता से सभी जगह फैल जाते ह�।



Options :
1.  पानी और हवा
2.  लता
3.  पौधो ंके गितशील भागों
4.  कीटभ�ी पौधों
 
Question Number : 57 Question Id : 25498921024 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
ऐसे पौधे जो अ� पौधो ंपर िनभ�र रहते ह� __________ कहलाते ह�।
Options :
1.  लता
2.  गितशील पौधे
3.  परजीवी पौधे
4.  जीिवत पौधे
  
  

QUANTITATIVE APTITUDE
Section Id : 2549895494
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549895535
Question Shuffling Allowed : Yes
  



Question Number : 58 Question Id : 25498914313 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The ratio of the angles of a quadrilateral is 3 : 4 : 6 : 7. Half the second largest angle of the quadrilateral is equal to the smaller angle of a
parallelogram. What is the measure of the adjacent angle of the parallelogram?
Options :

1.  

2.  

3.  

4.  

  
Question Number : 58 Question Id : 25498914313 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Options :

1.  

2.  

3.  

4.  



  
Question Number : 59 Question Id : 25498914361 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
What approximate value will come in place of question mark (?) in the following question? 
(Note: You are not required to calculate the exact value)

50.001% of 99.99 ÷ 49.999 = ?
Options :
1.  1
2.  0.1
3.  0.01
4.  0.02
  
Question Number : 59 Question Id : 25498914361 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Options :

1.  

2.  

3.  

4.  

  



Question Number : 60 Question Id : 25498928797 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
What should come in place of the question mark (?) in the following question?

5163 – 4018 + 3209 = ?
Options :
1.  4174
2.  4264
3.  4804
4.  4354
  
Question Number : 60 Question Id : 25498928797 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Options :

1.  

2.  

3.  

4.  

  
Question Number : 61 Question Id : 25498928931 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Select the option that can replace the question mark (?) in the given equation.



0.5 × 90 ÷ 1.5 = ?
 
Options :
1.  30
2.  40
3.  35
4.  45
  
Question Number : 61 Question Id : 25498928931 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
िन�िल�खत �� म� �� िच� (?) के �थान पर �ा मान आएगा?

0.5 × 90 ÷ 1.5 = ?
Options :
1.  30
2.  40
3.  35
4.  45
  
Question Number : 62 Question Id : 25498928948 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
A bag contains 7 blue balls and 5 yellow balls. If two balls are drawn at random, what is the probability that none is yellow?
Options :

1.  

2.  



3.  

4.  

  
Question Number : 62 Question Id : 25498928948 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Options :

1.  

2.  

3.  

4.  

  
Question Number : 63 Question Id : 25498929574 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Options :



1.  -5
2.  -4
3.  4
4.  1
  
Question Number : 63 Question Id : 25498929574 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Options :

1.  

2.  

3.  

4.  

  
  

GENERAL MENTAL ABILITY AND REASONING
Section Id : 2549895495
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0



Sub-Section Number : 1
Sub-Section Id : 2549895536
Question Shuffling Allowed : Yes
  
Question Number : 64 Question Id : 25498910334 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
'Sulphur' is related to 'Vulcanisation' in the same way as 'Chlorine' is related to '________'.
Options :
1.  Extraction
2.  Bleaching
3.  Metallurgy
4.  Allotropy
  
Question Number : 64 Question Id : 25498910334 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
'स�र' का 'व�नीकरण' से वही संबंध है, जो संबंध '�ोरीन' का _________ से है।
Options :
1.  िन�ष�ण
2.  िवरंजन
3.  धातुकम�
4.  अपर�पता
  
Question Number : 65 Question Id : 25498919023 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Select the word from the options that is similar to the given set of words in a certain manner.

Spatula, Strainer, Fork
Options :
1.  Rake



2.  Ladle
3.  Saw
4.  Hoe
  
Question Number : 65 Question Id : 25498919023 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
िवक�ो ंम� से उस श� का चयन कीिजए, जो िन� श�ो ंके समु�य के संगत है: 
करछुल, छ�ी, फ़ोक�
Options :
1.  सांचा
2.  चमचा
3.  आरी
4.  कुदाल
  
Question Number : 66 Question Id : 25498919679 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Select the option that is related to the third number in the same way as the second number is related to the first number and the sixth number is
related to the fifth number. 

9 : 8 :: 16 : ? :: 49 : 216
Options :
1.  27
2.  18
3.  12
4.  14
  
Question Number : 66 Question Id : 25498919679 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
उस िवक� का चयन कीिजए जो तीसरी सं�ा से उसी �कार संबंिधत है िजस �कार दूसरी सं�ा पहली सं�ा से और छठी सं�ा पांचवी ंसं�ा से संबंिधत



है।

9 : 8 :: 16 : ? :: 49 : 216
Options :
1.  27
2.  18
3.  12
4.  14
  
Question Number : 67 Question Id : 25498919946 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Four words have been given, out of which three are alike in some manner and one is different. Select the word that is different.
Options :
1.  Barren
2.  Desolate
3.  Sterile
4.  Fertile
  
Question Number : 67 Question Id : 25498919946 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
नीचे िवक�ो ंम� चार श� िदए गए ह� िजनम� से तीन िकसी �कार से एक जैसे ह�, जबिक एक इनसे िभ� है। उस िभ� श� की पहचान कर�।
Options :
1.  बंजर
2.  वीरान
3.  अनुव�र
4.  उपजाऊ
  
Question Number : 68 Question Id : 25498927827 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0



Select the option that is related to the third word in the same way as the second word is related to the first word.

Steel : Alloy :: Zinc : ?
Options :
1.  Metal
2.  Non-Metal
3.  Salt
4.  Halogen
  
Question Number : 68 Question Id : 25498927827 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
उस िवक� का चयन कीिजए जो तीसरे श� से उसी �कार संबंिधत है िजस �कार दूसरा श� पहले श� से संबंिधत है।
इ�ात : िम�धातु :: िज़ंक : ?
Options :
1.  धातु
2.  अधातु
3.  लवण
4.  हैलोजन
  
Question Number : 69 Question Id : 25498928152 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In a certain code language, 'INDIA HAS WON FIRST GOLD MEDAL' is written as 'JFZJU OUV SEF PJDVB REQZ ITZUQ'. Bearing in mind
the same method, how will FOOT be written in that language?
Options :
1.  BEEB
2.  CEEA
3.  PEEB
4.  SEEZ
  
Question Number : 69 Question Id : 25498928152 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
एक िविश� कूट भाषा म�, 'INDIA HAS WON FIRST GOLD MEDAL' को 'JFZJU OUV SEF PJDVB REQZ ITZUQ' के �प म� िलखा जाता है। तो इस
कूट भाषा म� 'FOOT' को िकस �प म� िलखा जाएगा?
Options :
1.  BEEB
2.  CEEA
3.  PEEB
4.  SEEZ
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Section Id : 2549895496
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549895537
Question Shuffling Allowed : Yes
  
Question Number : 70 Question Id : 2549899676 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
When development in the economy takes place, share of the tertiary sector in the national income:
Options :
1.  first falls and then rises



2.  first rises and then falls
3.  keeps on increasing
4.  remains constant
  
Question Number : 70 Question Id : 2549899676 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
अथ��व�था म� जब िवकास होता है, तब रा�� ीय आय म� तृतीयक �े� का िह�ा ____________ ।
Options :
1.  पहले िगरता है और िफर बढ़ता है
2.  पहले बढ़ता है और िफर िगरता है
3.  बढ़ता रहता है
4.  ��थर रहता है
  
Question Number : 71 Question Id : 2549899785 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Options :
1.  A-1, B-4, C-3, D-2
2.  A-1, B-4, C-2, D-3
3.  A-4, B-1, C-3, D-2
4.  A-4, B-1, C-2, D-3
  
Question Number : 71 Question Id : 2549899785 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Options :
1.  A-1, B-4, C-3, D-2
2.  A-1, B-4, C-2, D-3
3.  A-4, B-1, C-3, D-2
4.  A-4, B-1, C-2, D-3
  
Question Number : 72 Question Id : 25498912522 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Where was India’s first aerobic composting plant set up in 1992?
Options :
1.  Delhi
2.  Mumbai
3.  Kolkata
4.  Chennai
  
Question Number : 72 Question Id : 25498912522 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
1992 म� भारत के �थम वायुजीवी खाद-िम�ण संयं� (एरोिबक क�ो��ंग �ांट) की �थापना कहां �ई थी?
Options :
1.  िद�ी



2.  मंुबई
3.  कोलकाता
4.  चे�ई
  
Question Number : 73 Question Id : 25498912752 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The Dronacharya Award for sports coaches was instituted in the year:
Options :
1.  1984
2.  1985
3.  1987
4.  1988
  
Question Number : 73 Question Id : 25498912752 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
खेल �िश�को ंके िलए �ोणाचाय� पुर�ार की शु�आत कब से की गई थी?
Options :
1.  1984
2.  1985
3.  1987
4.  1988
  
Question Number : 74 Question Id : 25498932496 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The apex institution in the sphere of agriculture credit is:
Options :
1.  State Bank of India
2.  Reserve Bank of India
3.  Regional Rural Bank



4.  National Bank for Agriculture and Rural Development
  
Question Number : 74 Question Id : 25498932496 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
कृिष ऋण के �े� म� शीष��रीय संगठन कौन सा है?
Options :
1.  भारतीय �ेट ब�क
2.  भारतीय �रजव� ब�क
3.  �े�ीय �ामीण ब�क
4.  रा�� ीय कृिष एवं �ामीण िवकास ब�क (नाबाड�)
  
Question Number : 75 Question Id : 25498935389 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The vitamins which are soluble in water are:
Options :
1.  A and B
2.  C and D
3.  B and C
4.  A and D
  
Question Number : 75 Question Id : 25498935389 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
जल म� घुलनशील िवटािमन िन� म� से कौन से ह�?
Options :
1.  A और B
2.  C और D
3.  B और C
4.  A और D
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Question Number : 76 Question Id : 25498941173 Question Type : TYPING TEST Display Question Number : Yes Calculator : None



Summer camps are supervised camps conducted to entertain as well as equip students with various life skills such as teamwork,
socializing, decision making, independent and responsible living and more. It aids the overall development of a child and children have
fun during this process as they get to explore new arenas.
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Number of Questions to be attempted : 1
Section Marks : 0
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
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Question Shuffling Allowed : No
  
Question Number : 77 Question Id : 25498937893 Question Type : TYPING TEST Display Question Number : Yes Calculator : None
Monsoon is a time for scenic beauty all around India and nothing beats the thrill of long rides in this season. But this is the season when
most of us contract deadly diseases. Getting a viral fever or suffering from cough and cold is quite common scenes. After learning about
this, that long ride with your spouse does not look promising. You need do make certain changes, if you do not want to infect with the
disease. First of all, you have to maintain personal hygiene. You must take good care of yourself. Many viruses and bacteria are lurking
around us waiting to attack those of us with a weak immune system. That is why it is advisable to keep yourself neat and clean. The next
thing that you should do in this monsoon is to strengthen your immune system. When you have a weak immunity system, you become an
easy target for most of the infections. The best way to kickstart your defense system is with an intake of vitamin C. Add vegetables and
fruits to your diet. Drinking green tea can also help in strengthening your immunity. You should wear clean and dry clothes and
footwear. If your clothes and shoes have not dried properly, do not wear them. Damp clothes and shoes often become home for microbes.
Make sure you wear clean and fully dried clothes and shoes. You should also clean your home. There is water logging during rainy days.
Stagnant water can become a breeding ground for mosquitoes. That is why it is advisable to keep your home and surroundings clean and
dry during the rainy season. Always drink boiled water in the rainy season. You should not drink juices from roadside shops. You never
know if the water used in preparing juice is infected. Make sure you drink only boiled water. Contaminated water may put you at risk of
contracting diseases. Boil your veggies properly. Raw vegetables may carry germs during monsoon. Washing them thoroughly and
boiling them is of utmost importance. You can avoid contracting dangerous diseases. You should also take sleep well. Fewer hours of
sleep will not only make you cranky but also weak. You are more likely to attract flu. Make sure you get plenty of sleep at night. This in
result will help you wake up feeling fresh and active both physically and mentally. If you get soaked in rain, take a bath and dry your
hair immediately. Damp hair and clothes can attract viruses that cause flu. If you have contracted flu, take a bath in hot water. This will
prevent the virus from spreading and takes care of the sore throat. Exercising every day can help you stay fit and healthy when it is
pouring outside. If it is raining outside, you can do an indoor workout. Before eating anything, you should wash your hands properly.
Use handwash or soap to wash your hand when you come back home. As a result of this, no microbes will enter your body and cause
harm. Make sure you do not touch your eyes or any visible part of your body before washing your hands.
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Question Number : 78 Question Id : 25498944353 Question Type : TYPING TEST Display Question Number : Yes Calculator : None
एक बार की बात है, अकबर और बीरबल िशकार पर जा रहे थे। अभी कुछ समय की उ�� एक िहरण िदखा। ज�बाजी म� तीर िनकालते �ए अकबर
अपने हाथ पर घाव लगा बैठा। अब हालात कुछ ऐसे थे की अकबर ब�त दद� म� था और गु�े म� भी।
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Question Number : 79 Question Id : 25498944354 Question Type : TYPING TEST Display Question Number : Yes Calculator : None
संपूण� िव� मनु� शरीर की तरह ही एक �तं� िप� जैसा है उसम� जीवो ंकी गित उसी �कार संभव है, िजस तरह शरीर म� अ�कणो ंकी गित होती
है। अब इस मा�ता का ख�न करना स�व हो गया है िक अ� �हो ंके तापमान की ��थित म� �ाणी का रहना संभव नही।ं यह ठीक है िक शरीर का
जो ��प पृ�ी पर है, वह अ�� न हो।ं इस �ि� से बृह�ित, शिन, यूरेनस, ने��ून, आिद �हो ंको देख� तो लगता है िक वहां जीवन नही ंहै, वहां
मीथेन गैस की अिधकता है। बृह�ित �ह पर घने बादल छाये रहते ह�। बादलो ंका िव�ेषण करने पर वै�ािनको ंने पाया, उनम� हाइड� ोजन का
संिम�ण रहता है। अमोिनया और मीथेन गैस� भी अिधकता से पाई जाती है। बादलो ंम� सोिडयम धातु के कण भी पाये जाते ह�, इससे बृह�ित के
बादल चमकते ह�। इस प�र��थितयो ंम� हालांिक जीवाणुओ ंकी श�� न� हो जाती है, पर िजस तरह पृ�ी पर ही िविभ� तापमान और जलउ�ा की
िविभ� ��थितयो ंम� मछली, सांप, मगर, कीट, वन�ित, फलपौधे, �नधारी गोलकृिम जैसे जीव पाये जाते ह� तो अ� �हो ंपर इस तरह की ��थित
संभा� है और इन तरह चं�मा आिद पर भी जीवन संभव हो सकता है भले ही शरीर की आकृित और आकार कुछ भी �ो ंन हो। इस त� की पुि� म�
अमरीकी वै�ािनक िमलर का �योग ��ुत िकया जाना आव�क है। िमलर ने एक िवशेष �कार के उपकरण म� अमोिनया, मीथेन, पानी और
हाइड� ोजन भर कर उसम� िबजली गुजारी। िफर उस पा� को सुरि�त रख िदया गया। लगभग दस िदन बाद उ�ोनें पाया िक कई िविच� जीवअणु
उसम� उपज गए ह�, कुछ तो एमीनो एिसड थे। इससे यह सािबत होता है, वातावरण की िविभ� प�र��थितयो ंम� िविभ� �ािणयो ंका जीवन होना संभव
है। यह भी संभव है िक उनम� से कुछ इतने श��शाली हो ंिक दूर �हो ंपर बैठे �ए अ� �हो ंिजन म� पृ�ी भी स��िलत है के लोगो ंपर शासन कर
सकते हो।ं उ�� द� दे सकते हो ंअथवा उ�� अ�ी और उ� ��थित �दान कर सकते हो।ं लोको�र िनवासी, पृ�ी के लोगो ंको अ�� �ेरणाय� और
सहायताय� भी दे सकते ह�। इस �ि� से यिद हम आय� ��ो ंम� िदये गये िववरण और अनुस�ानो ंको कसौटी पर उतार� , तो यह मानना होगा िक वे स�
ह�, आधारभूत ह�। अ�ेबुरे कम� के अनुसार जीवा�ा को अ� लोको ंम� जाना होता होगा और वहां वह िच�िविच� अनुभूितयां होती होगंी। इन
वै�ािनक त�ो ंको देखते �ए यिद कोई कहे िक मनु� को शुभ और स�म� करना चािहये, तािक वह ऊ�� लोको ंका आन� ले सके तो उसे हा� या
उपे�ा की �ि� से नही,ं वै�ािनक �ि� से त�पूण� अनुभव करना चािहये। यह मनु� शरीर पाना बडा दुल�भ है। यह �ग� की �ा�� का साधन है,
इसिलये इस मनु� शरीर को �ा�� करके इसे शुभ कामो म� लगाना चािहये, िजससे अवनित को �ा� न हो। पथ�� न हो। जीवा�ा की अमरता को
�ीकार कर हम� भी ऊ�� लोको ंकी �ा� के �य� करने चािहये। अ�े कम� से आ�ा को िवकिसत करना उसका सरल उपाय है।
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